
PP2 Marking scheme Form 4 

Question 1 

a)  It is destructive because it undermines the body, mind and emotions leading to the  

  destruction of the skin 

b)  When one is stressed, the skin looks bad, because it develops acne, wrinkles and dryness 

c)               i )       The body produces cortisol 

  ii) Cortisol causes inflammation 

  iii) Inflamed spore gets clogged 

  iv) Matrix breaks down causing skin conditions 

   (Must be in point form or else deduct ½ of the total mark scored) 

d)  Other factors include eating too much chocolate, dust and the weather (any 2 xl = 2 mks) 

e)  Not only do you have to deal with how you feel but also with how others react to you. 

f)  One knows this when other people notice and begin to tell you that you look great. 

g)  It raised the level of endorphins which in turn raises the mood 

h)              (i)  telltale- indicators/obvious signs 

  (ii)  Bad skin day- a day when one’s skin does not look healthy  

  (iii)  Binging – overindulging/ excessive consumption  

                     (iv)    congestion of blood vessels 

QUESTION 2 

1. Similar tension had been experienced in 1972 (two years earlier when Vera and Becky 

were sitting for their Ordinary Level examination and Tony for his Certificate of primary 

education.  (2mk) 

2. We can tell that Vera was different from Becky because whereas Becky could tell what 

Tommy’s intentions were, we are told that Vera was “unaware”.  In other words, Vera was quite 

naïve about boy-girl relations but Becky was worldly-wise.    (2mks) 

3. Mark’s treatment of the young men who aspire to relate with his daughters is quite 

ironical because when he was their age, he had done exactly what they were doing now.  He 

would be expected to appreciate the fact that the boys’ behavior is normal.   (3mks) 

4. “…. no young pup was allowed to nose around …” This metaphor shows how much 

Mark resented the young men’s schemes.  They are compared to puppies which is extremely 

contemptuous.   (3mks)  

5. Tommy and Vera are very focused.  Vera is determined to score A’s in her examination 

and Tommy wants to win Vera’s love regardless of the obstacles.  They are very courageouSs.  

Tommy is not deterred by Mark’s reputation.  Vera, too, boldly faces her father and requests to 

be allowed to go to the movies with Tommy.  Her siblings are amazed by her bravery.  In the 

excerpt, we are told that both of them are good people.   (5mks) 

6. Vera told her father that Tommy had asked her to the movies the following Saturday.   

(1mk) 

7. Mark would not dare steal a quick look at Elizabeth because it would have betrayed his 

indecision.  He wanted to give the impression that he was in charge.   (2mks) 

8. We learn that Mark was very protective of his family and would do whatever he thought 

was necessary to keep them safe.  He instilled fear in the young men who were trying to attract 

his daughters’ attention.  Sometimes he sought his wife’s counsel and softened his stand if 

necessary.   (4mks) 

9. Meanings of expressions: 

a) Dramatic transformation  - radical change  



b) Scare   -  discourage  

c) Listened very intently    (3mks) 

 

QUESTION 3. 

a)Dilemma narrative 

b) .Characteristics 

-.The action taken is unpleasant 

  -.involves two or more causes of action 

  -.They present a situation hard to decide. 

c).Function-Test ability to make decisions 

                  -used to discover heroes in society 

                -To teach a moral lesson 

d) Features of oral narratives; 

-  Opening formula – “There was a certain town…” 

 Closing formula – ‘Here ends the story’ 

 Dialogue – ‘This man said to his son, ‘Come let us go and catch the squirrel’ 

 fantasy 

 timelessness 

 Repetition 

e)-            Hunting  3 features + illus = 6 mks 

           –  Livestock keeping – The chief gave his sons horses worth ten pounds 

- Slavery – He called his slaves to take him and have him washed and shaved. 

- Blacksmithing – axe Identify + illust = 2 mks 

(f) -   Loving / Caring – He did not want the slaves of the headman to strike his father. 

- Obedient, Identify + illust = 2 mks 

             (ii)  Hot tempered – When the squirrel escaped, he became angry and struck his son with  

an axe 

-  Ruthless – inhumane 

- Selfish – irresponsible / youth Identification + illust -= 2 mks 

g) The most appropriate audience of this story is children. This is because, as they grow up, 

they      will know how to handle difficult situations in life. 

h) We should learn to forgive 

 

                                       Question 4.Grammar 

A)i.Crawling  like a snake,he moved towards the dimly lit house. 

ii)Only when he stops drinking irresponsibly will he regain other people’s respect. 

B)i.industrial 



ii)friendly 

iii)worthless 

C)i.for 

ii.to 

iii)in 

D)i) “Dominic,why do you always quarrel Paul,”he asked. 

E)i .go through 

ii) taken in 

iii) make out 

E)i.The girl who had a Telescope machine 

ii) Using a telescope machine 

g) i)verbatim 

   ii)bankrupt  

 


